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[ BN (IR ©F) ]
Converted Marks for all Terminal Examinations

Class: Eight
Converted Marks for the Term Exam (English)
Type of Exam Allotted Marks Converted Marks

Written 100 75
Class Test 20 10

Spot Test 10 5

Vocabulary Test 25 5

Attendance 5 5
Total= 100
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1.
2. Paragraph: a, b, ¢
3. Dialogue : a, b, c

1.
2. Paragraph:

SR e a0 o

Class Test-01

English For Today Unit — (1 & 2)

1% Term Examination

English For Today: Unit (1 to 5)

Our National flag

A winter morning

The importance of learning English
Tree Plantation

A Rainy Day

A Street Accident

A School Magazine

A Tea Stall

3.Dialogues :

o Ao o

N —

.P

Preparation for Half yearly Examination

How to learn English

Buying a pair of shoes

With book sellers for buying a book

Bad effects of smoking.

With a doctor about Health Problems

About your Aim in life

Class Test-02

English For Today Unit — (6 & 7)
aragraph: a, b, ¢

3. Dialogues - a, b, c

214 Term Examination

English For Today : Unit (6-10)

. Paragraph :

RN L

Traffic Jam

Your School Library

A Book Fair

Computer

Your Visit to a Book Fair
A Day Laborer

Mobile Phone

Life of a Farmer

3.Dialogues :

©Ho o o

About your Hobbies

Advantages and Disadvantages of Village life and City life
Importance of Reading Newspaper

Benefits of Early Rising

Uses and abuses of Technology

Environment Pollution

Good Health
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BN (IR ©F)
Marks distribution for Class Test

SL Question Pattern Marks
1 Knowledge based Short Question 1x5=5
2 Answering questions (Open ended/ 1x5=5
Close ended
3 Paragraph /Dialogue 1x10=10
Total Marks- 20

English 2" Paper

Class Test-01
1.Grammar

a. Article
b. Speech (Assertive, Interrogative)

1 Term Examination
Test-02

1.Grammar Part
a. Speech (Assertive, Interrogative)
b. Punctuation
c. Use of Articles
d. Changing sentence

e Voice- Assertive, Interrogative
o Affirmative- Negative & Vice-versa
e Assertive to Interrogative &Vice-versa
e Assertive to Exclamatory & Vice-versa
e Degree
o Suffix/prefix
2. Email
a. To friend about annual sports day at your school in which you participated.
b. To your younger brother to be regular in his studies.
c. To cancel the ticket booked for you.
d. To your friend inviting to attend a picnic.
e. To friend about your preparation for the JSC.
f. To friend inviting to spend summer vacation in your village.

Class Test-02
1.Grammar

a. Changing Sentences (Affirmative to Negative & Vice-versa)
b) Degree
Term Examination

1.Grammar Part
a. Speech (Assertive, Interrogative, Imperative, Optative, Exclamatory)
b. Punctuation
c. Use of Articles
d. Changing sentence
Voice- Assertive, Interrogative, Imperative
Affirmative- Interrogative & Vice-versa
Assertive to Exclamatory &Vice-versa
Assertive to & Interrogative Vice-versa

(FMEPAf5-2029) D)




e N

e Degree

o Suffix/prefix
2. Email

[ B (T 1) ]

To friend on thanking him for a nice birthday gift.
To friend congratulating him on brilliant success in JSC Exam.
To friend describing the prize-giving ceremony of your school.
To friend thanking him for hospitality.
To the coordinator of a social organization to be a volunteer for an event.
To DC for relief goods for flood affected people.
To friend thanking him for hospitality.
To the coordinator of a social organization to be a volunteer for an event.
To DC for relief goods for flood affected people.

Marks distribution for Class Test-1

SL Question Pattern Marks

1 Acrticle 5

2 Speech 5

3 Email: a, b, c 1x10=10
Total Marks- 20

Marks distribution for Class Test-2
SL Question Pattern Marks
1 | Changing sentence (Affirmative to Negative) 1x5=5
and Vice-versa
2 | Degree 1x5=5
3 Email: a, b, c 1x10=10

Total Marks- 20

Mark Distribution of English for 1st & 2nd Exam

Test Item Item-wise marks
Reading (MCQ) (1x7)=7
Short answer questions (2x4)=8
Gap filling (without clues) 1x5=5
Part B : Unseen (25)

Information transfer (1text) 5

True/False 5
Cloze test with clues (0.5%10) =5
Cloze test without clues (1x5) =5
Matching 1x5=5

Part : C Grammar (25)
Suffixes and Prefixes (0.5%10) =5
Use of Articles (0.5x10) =5
Changing Sentences (Voice, Sentences, 5
Interrogative,Affirmative,Negative, Exclamatory)
Speech 5
Punctuation 5
Part D: Writing (30)

Dialogue 10
Email 10
Paragraph 10
Total 100
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